
Step 1 Step 2

FINISHED

HALO DINING TABLE

ASSEMBLY INSTRUCTION

Wooden leg: x2

S

t
e

e

l
 
F

r
a

m

e

:
 
x

1

C

o

n

c

r
e

t
e

 
T

o

p

:
 
x

1

No. Hardware Q.ty

1

2

08Bolts M8x55

3

4

01

Washer M8x22

06Bolts M8x70

14

Key K4

Connect steel frame with

concrete by Bolts M8x55 and

washer M8x22

Connect steel frame with

wooden legs by Bolts M8x70

and washer M8x22 and

square washer M8x40

4

Square washer M8x40 06


	Sheets and Views
	Model


